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No. JYE=1=Tp ! AL AFER = a2t =L el HID 40loi 7}
oemae | O2EDIE B - S, (O, dlxx
i 2018-03-01 | Cr2spi=se & SrplAE 20 200,000 ¥ Ui, B, 2xx Olxx, | 2017-12-29
= Elxx, Elrr, Bhir) M2
2 2018-05-19 | MIHQIolL HEsls = w3z 20 350,000 o MHeIo| = 2018-05-19
3 Hreelezs | HESES 2 = 2 30,000 o MAIOIo) 2y = 2018-05-19
4 HHeogzs | HESUE S 2N 2 50,000 o b ISR EE=: 2018-05-19
5 Mreogze | HEEF 1 gama 10 100,000 oH Mol 2= 2018-05-19
6 Mgz | HESUES = H2AE i 20,000 Box MH Qo2 = 2018-05-19
7 Mreogzs | HEE T moimmn 3 75,000 oH NIHolo 2= 2018-05-19
8 Hoelelezs | HESES = 10kg 5 125,000 bns MAIoIo) 2= 2018-05-19
9 Mgz | HESSES =0 gaiaag 5 100,000 o MOl 2= 2018-05-19
10 HHeogzs | HESE T posay 5 60,000 oH JUp I Er=s 2018-05-19
11 Mgtz | HESOE =0 aeamp)) 5 0,000 o MAIoIo) 2= 2018-05-19
2 HHeogzs | HESUE S M=) 2 100,000 N NIHolo 2= 2018-05-19
13 Hoelelezs | HESS 2 HiCI2 = i 15,000 oH A olol 2= 2018-05-19
14 Mgz | HESUES = SISEET 2 40,000 oH MAIOIol 2= 2018-05-19
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No. AR AFBL AFEH =y Az =t el b Aolo1%}
15 20180519 | MelelgzE | HESS = E=] i 50,000 o MH Qo2 = 2018-05-19
16 Hoelelezz | HESLES = ol 10 250,000 T Mooz = 2018-05-19
17 HHologzs | HESLE = | 2 60,000 oH Mooz = 2018-05-19
18 Hoeleiezz | HESES = apcwm)) i 85,000 o Mooy 2= 2018-05-19
19 Hoelelezz | HESLS = ol 1 156,000 ME Moo 2= 2018-05-19
20 HHoogzs | HESLE = %t i 3,000 ME Mol 2= 2018-05-19
o1 Hoeleiezs | HEHE 2 sggomas 5 50,000 o Mooz = 2018-05-19
2 HHoogzs | HESUE S e 4 200,000 o MAIOIo) 2= 2018-05-19
23 HHelogzs | HESLS = e i 25,000 xH MOl 2= 2018-05-19
24 Hoelelezz | HESE 2 wasz 2 40,000 5 Moo= 2018-05-19
25 HHoogzs | HESUE = simE i 30,000 o MHIOIo) 2= 2018-05-19
2% Hoelolezz | HESES = 10k 2 50,000 N NIHIolo 2= 2018-05-19
o7 Hoeerezs | HESS =0 panaw 3 60,000 x Mol 2= 2018-05-19
28 HHeogzs | HESLS = e 2 50,000 J’(H MAIOIol 2= 2018-05-19
29 Hoelelezz | HESS = bl 2 60,000 oH AIHoIol 2= 2018-05-19
30 2018-07-14 | =et g2 HEss = e 7 1,078,000 x 34 (72) 2 2018-06-29
31 2018-08-19 | EI21 HEss = Elty 10 1,200,000 = 52 (109) KI2 2018-07-27
3 20180021 | GEIEFA | HESUES = 2131300} i 19,040 Box DbersLIDHR 2018-09-19
3 LEevEEs | bEsls = 2421300l 1 19,040 Box Drrrrr DIFE 2018-09-19
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No. AR AR AFEH =g o 2o cr9l HID A0lQI%}
34 | eoig0oet | HEISF Lh=sls = 10Kg 1 33,000 z I 2018-09-19
35 LEsis= Leshis = BHOKg 1 33,000 z Ol D1 2018-09-19
k== &
% Ceebiss Ch=eii= = #H0Kg 1 33,000 Z It 2018-09-19
37 CEsiss LEshis = 2HOKg 1 33,000 b3 R I} A 2018-09-19
N & ’
2] 144 4.921,080
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